
130        I

4.

WELL AND UNDERWATER  LIGHTS

LL LED COMPONENTS

ITEM DESCRIPTION CATALOG #

4 1LED Spot Lens (18º) 770600

5 3LED Spot Lens (18º) 771300

6 6LED/9LED Spot Lens (18º) 771600

7 1LED Color Filter, Amber 770100

7 1LED Color Filter, Blue 770101

7 1LED Color Filter, Green 770102

8 3LED Color Filter, Amber 770800

8 3LED Color Filter, Blue 770801

8 3LED Color Filter, Green 770802

9 6LED/9LED Color Filter, Amber 771500

9 6LED/9LED Color Filter, Blue 771501

9 6LED/9LED Color Filter, Green 771502

10 1LED/3LED Screw, #4-40 x ⅜" (Qty: 2) 762400

11 6LED/9LED Screw, #4-40 x 7/16" (Qty: 3) 250014550000

12 1LED Reflector 770000

13 3LED Reflector                                                            770700

14 6/9LED Reflector 771400

14 ZDC LED Reflector 250020690000

15 1LED Board 1LEDULKIT‡

16 3LED Board                                                             3LEDULKIT*

17 6LED Board 6LEDULKIT‡

18 9LED Board 9LEDULKIT‡

18 ZD 3LEDT Amber LED Board ZD3LEDTKIT

18 ZDC LED Board ZDCKITL**

‡ ZD = Zoneable and dimmable (add ZD to front of part number) 
** ZDC kit includes LED board, reflector (#14), screws (#11), and flood 
lens diffuser (9LEDFLLENS)

LL LED

ITEM DESCRIPTION CATALOG #

1 Shroud, LL 250025450000

2 Lens, Diameter 2.35", Clear 250025510000

Lens, Diameter 2.35", Clear Frosted 250025510001

3 Gasket, Silicone 250025470000

4 Body, LL

5 Screw, SH, #6-32 X 11/4", SST 250025500000

6 Back Cap 250025440000

7 LED Board See LED Chart

8 #4-40 x 7/ 16" Phil Pan M/SST See LED Chart

9 Connector, STOW, Overmold, 30′ --

10 Reflector, 6X/9X, G2 See LED Chart

11 Filter, Color, 6X/9X, G2, Amber See LED Chart

12 Diffuser, 6X/9X, G2 See LED Chart

13 Stand, SST 250025480000

14 Screw, FH, 10-24 X 5/ 16", SST 250026750000

15 O-Ring, Silicone, Orange, -112 250010280044

16 Screw, SH, #6-32 X 1/ 2" LG, SST 250010690000

† Replace "C" with "F" for frosted lens option

121187

166

9
31210415

14

13

5


